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Section A (30 x 2 marks = 60 marks)

For each question from 1 to 30;*féur options are given, One of them is. the
correct answer. Make your choige (¥;:2; 3.or 4). Shade the correct oval (1, 2,
3 or 4) on the Optical Answer Sticet:provided.

1. Which one of the animals shown below is not an insect?
(1) 2
(3) 4

2. Which one of the following is fﬁe function of a leaf on a plant?.
(1)  Holds plarit upright  ~ (2)  Makes foed

(3) Takesinmineralsalts (4} Takes in-water

3. What is the function of the large intestine?

(1) It remeves digested fgod from thie.body.

(2) It allows watet to be passéd into the blood.

(3) i removes undigested food out of the body.

(4) 1t allows digested food to be passed into the blood.




4,

The diagram below shows the life cycle of an animal.

egyg

Which animal is likely to haveé the fife cycle as shown above?

(1) Bestle (2) Butterfly
(3}  Chicken _ {4) Cockroach

Peter shines a torch on the metal container as showﬂ:b’éj@w.

torch container screen

Which one of the following shows the shadow of the metal container on
the screen? ‘ ' '

(1 (2)

4)




6. Kerin places an ice cube into a glass of hot water.

< jce cube

e e e e —

—— ==~ ——1]  hotwater
glass { — —= )

Which one of the following is correct?
(1)  The ice cube loses heat {o the hot water.
{2) The ice cube does not-gain or lose-heat.

(8)  The hot-water loses heat to the ice cube.
(4) The hot water gains heat from the ice cube.

7. Catherine wants to measure the temperature of hot water in a beaker.

Which ene of the following diagrams shows the best position of the
thermometer when taking the tefnperature reading?

- 2

(3) (4)

b ——




8.

Which one of the following properties is true for both air and a pencil?

(1)  Theycan be seen.

(2) They take up space.

(3) They have fixed shapes.
(4). They have fixed volumes.

Which one of the following objects can bé bent easily without breaking?

(1y A sheet of glass (2) A plastic spoon

(4)  Awooden ruler

10.  Which one of the feilewihg can be attracted by a-fﬁﬁgﬁiéi?

1.

(1)  Steel bali ()  Rubberball
{3) Plastic ball (4) Wodidenball

Which of the following is not an example @T:@sg;;ﬁree of heat?

(1) A burning candie 2) Agﬁ :' %igx;ﬁ#vgier
(3)  Alighted matchstick (4 Awesllen sweater
4t
5
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13.

The table below describes two different animals, X and Y, which lay

eggs.
Descriptions _ X Y
Number of stages in the life cycle Thiee Four
Number of legs ' More than Less than
two eight

Which of the following correcily represents animals X and Y7

X Y
(1) Toad Cockroach
(2) Frog Mesquito
(3) Chicken Grasshopper
(4) -Mealworm Beetle Moth

Three of the four stages in the life cycle of a butterfly are listed below.

egg

Stage1

> ?

s

pupa

Stage 2

Stage 3

%

adult

Stage 4

Which of the following diagrams below shows stage 2 of the life cycle
of the butterfly? '

{3)

(2)

{4




14.

On a sunny day, the length ot the shadow of a lamppost was taken at
hourly intervals from 7 am to 5 pm. The data collected was used to plot
a graph.

Which cne of the following graphs shows the results obtained?

(1)
Length '
of
shadow
(om)
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‘The diagram below shows the set-up which Timothy used tfo carry out
an investigation. °

\<creen
object T

I /torch

(

shadow

He switched on the torch and observed the size of the shadow formed
on the screen.

Actions A to C list the changes that he could make to the set-up above.

A Move the object nearer to the screen
B Move the screen further from the object
C Move the object nearer to the light source

Which of the actions above would enlarge the size of the shadow on
the screen?

(1) AandBonly “(2) AandC only
{(3) BandConly (4) A, BandC




16.

The diagram below shows how the apple is seen through the
periscope.

apple

periscope

wall _ % __»D eye

A, B and C states the properties of light

A Light travels in straight lines.

B Light can be reflécled: by mirrors. -

C When light is blogked, shadow is formed.

What of the above propetties of light enable the eye to see the apple
through the periscope?

(1) AandBonly {2 AandConly
(3) BandC only : (4 A,BandC

Ak



- 17.

Study the classification table shown below.

Which one of the following correctly states what items A, B, C-and D

¢

Start

Does it have mass?

Dees it have a ‘
definite veluma?

could-be?
A B C D
() | . Shadow Oxygen Water Woed
@ : Shadow Wood Oxygen Water
'(3_)_ | water Qxygen .Shadew Wead
4) stfzgen -Wéter Wooad Shadow

10 .




18.

9.

20.

Which.one of the following will show a change in the state of matter?

(1)  Heating air

(2)  Boiling some water.

(3} Buming a piece of paper
(4)  Chopping a piece of wood.

Which one of thé following shows the correct classification of objects?

Opaque Translucent Transp_arént
() | Tracing paper Gardboard Clear glass
2 Clear glass Frosted glass Cardls);oard
3) Cardboard- | Traci:hg- paper ' Q‘Iear-gja'ss
4 Frosted glass Clear glass Trécing"ﬁa-per

Refer to the ¢lassification table belew.

Light Source - Not a light source
moén mirror
star glass
torch ' _ candle flame

Which one of the following had been classified wrongly?

(1) imoon andeaniile flame (2) star and mirror
{3)  mirror and'giass. (4) torch and sta?

11
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22.

The diagram below shows Sarah and Simon reading a book in their
living room.

Simon

Which. one of the following fs’tﬁtéifwents explains why Sarah and Simon

~are able’r.vgsee what they aré reading?

(1}  The eyes give out light and.is reflected on the book.

{2) The hook gives out light-and is reflected into theireyes.

(3} The light in the room enters:.iheir eyes and is reflected onto the
book. _

(4) The light from the room shines onte the book and is reflected
into their eyes. '

Peter took his drinking mug and shene a torch on it from different

directions. .

12




23.  The diagram below shows a floor plan of a book store.

v N

i shelf _ payment counter :
: cashier
3
customer ——0 1 |

Two mirfors. would be installed to enable the cashier to see any
ousteimer staniding behind the shelf without leaving the payment
-counter.

Which of the options would be the best ppsitions to install the mirrors?

(1)  Positions Aand B (2) Positions Aand ©

(3) PositisnsBandC (4)  Positions B and D

47



24.

The diagram below shows the set-up for Daniel’'s experiment. He used
different materials for his experiment and conducted the experiment

with each material three times.

Al

light sensor datalogger

material

He recorded the readings from the datalogger as s'hown in the table

below.
Mat_er-ials 35t try 27 try 3.“3 uy
X 1200Tux, 122490k 1270 Jux
Y 500 lux S 05
z ~ Blux 10 qu 8 jux

Based on his results, which one of the follewing could be the aim of his
expenment‘?

{1) To find out how bright the torch is.

(2) 7o find cutow much hght the materials could reflect.

(8) To fird out how the number of Iries. affeets ‘the amount of light that
pass:through the material.

(4) To find out how each material affects the amount of light that coutd
pass through

14




-25.  The diagram below shows the Sun shining on a stick placed on the
' ground. o

Sun

Posilion B

T
Pgsition C

Which oné of the following.shadows shows the correct pésition:of the
shadow of the stick? '

(N ﬁosition A @) ?0‘133;59"5!.13
(3)  PositionC i @) PostionD

15



26. John conducted an experiment as shown below.

80ml of water

40mi of water

=/

beaker A beaker B

Set-up A Set-up B

Beakers A and- & were dlffelfem ingizes. Atthe start of the exper;ment
the water in both beakers X.augeiwere a650°C. John-heated the two
baakers of water using the same: axneHntal heat for ten minutes.

He predicted that the ter) 3 egalfme of the watstin:Beaker B would
mcrease at a faster rate-thai Hhe water in béaker &

Which one of the felfewmg statements best explained John’s
pred{ctlon‘?

{1) Water'in beaker A was heated faster.
{2) Beaker Awas b;gge; in sizethan-beaker B.
'{8) ' 1ésswater in beaker Brequired a shorter time to heat up.
(4) Water in beaker B had a higher. temperature at the start of the
expenment

16




27.

Andy tried to pull out the stopper from an empty bottle but was not

able to do so. His mother suggested-placing the bottle over a flame. .
Andy observed that the stopper popped out when the bottle was placed

over the flame for a short time.

stapper

botile

flame

Which one of the f@llowmg correctly explamed his ebseWailon‘?

(1)
(2)
(3)
{4)

The bott!e contracted when heated.
The stoﬁper expanded wheh heated.
The air inside the bottle expanded and pushed the stopper out.

The air inside the bottle contracted and pushed the stepper out.

17

53



28.  Ali prepared the experimental set-up below. He observed that the water
level in the glass tubing decreased after ice cubes were added.

original glass

water tubing \l

level
rubber
stopper

new water
level

beaker
lce cubes
flask
water

water
Before iQ € . . £} ! 8 Ry
cubes were ——g cubbés were
-agdded added

Which one of the following conclusions could bé made based on the
above cbservation?

(1)  The flask increased in volume when it was cooled.

{2) The beaker decreased in volume when it was ceoled.

{3)  Water in ihe flask increased in volime when it was cooled.
(4)  Woater in the flask decreased in volume when it was cooled.

18




29.  Ah Seng could not open a jar of jam because the lid was too tight.

Which of the following shows the correct actions and explanation that
would help_Ah Seng to solve the problem?

Action _ E*ﬁlaﬂ,@ﬁéﬂi .
o Ttie heat will cause thelid to
(1) | Heatthe lid overa flame. contract and become loose.

: : ) . _ The-heat will cause the lid to
(2 | Pourhot water overthe lid. - | expand and-béeome loose.

__ The heat will Gatise 1he Iid and the
{3} | Heatthe entire jar.  jar to-expand and begome. loose.

jmmerse the betiem of the jar Fhe heat will cause e jar to

)

in hot water. contract and make the lid ighter.

19
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30. Railway tracks are built with smalf gaps in between them. Thése gaps
allow the tracks to expand on a hot day. Without the gaps, the tracks
- will bend as they push against each other. ¢

track

gap of 5 cm

The table below shows how the length of different types of metals, A,
B8, C and D, change when heated. The measurements of-each type of
metal.are taken every minute for 5 minutes.

Length of metal
Time. {min) A B O
. 0o - - 2.0 20 | 20
1 2.2 20 | 24
2 2.4 21 | 28
3 2:6 2.1 R
4 2.8 2.2 36 J
5 3.0 2.2 4.0

Based on the information above only, which is the best type of metal
that should be used to make the railway tracks?

{1) MetalA
(2) MetalB
(3} MetalC
{4) MetalD

20
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Sectioﬁ B {40 marks)
Wirite your answers to questions 31 to 44 in the spaces provided.
Marks will be deducted for misspelt key words.

Q

31. The diagram below stiows twoplants.

plant A ' leaf

N

stem

{a) Whatis one-difference between the stem of plant A and:the
stem of plant B?

Thestem of plant A is than the stem
of plant B. 1]

{b) The :lje_aves help beth plants make inthe
presence of light. 11

32. Qh@:eséihéﬁéﬁrf’é’eél-ﬁ(ﬁfﬂs*-iiretﬂ}the box 1o answer the questionsbtw.

gullet _ farge intestine
mouth
;small intestine stomach

In & hugiandigestive:system, famahe part where

{) -ligsblign fist takes place. < o T

(b) wigestionis completed 1 .M




33.

Susan placed a magnet near an iron rod. The iron rod moved towards
the magnet.

irén rod ——
magnet

(a) Magnet exerts a ontheironrod. =~ [1]

{b) Choose the correct word from the box to answer the
guestion below. :

hard ' magnetic strong

Susan’s observation shows that ironis a _
material. {1

Ahmad sees only a candle flame at-a comer when he enters a
completely dark-room. :

lamp off

candle flame

{a) A—hmad can only seé the candle flame because it
L light. (1]

23 - 59 .



When he switches on the light in the room, he sees both the candle

flame and object B.

lamp on

candie flame

(b) Ahmad can see object B because it light
from thie lamp. - f1]

35. Jane used ah instrument to measure the tempetature of water in a
glass.

=y

111

instrument

and

—— — g, —— —
— — — 19 — — _—— water

(a) What is the instrument called? | (1]

(b} Whatis the temperature of the water in the glass? i1}

°C




36. Ravi studied the life cycle of insect X as shown below and noted that
the adult has wings.

€gg

/TN

adult

nymph

A

(a) Ravi concluded that it was easiest to get rid of insect X at the egg
stage. Explain how he ariived at this conclusion.

(]

{b) Flaw found insect X% mvpa@kéts -of sugar i Al slererm Hi‘siﬂend
Tom, suggested that i should spray insecticide oh the packets of
sugarsoas fo {dll-insect-X 1mmed1ately

‘P-ro\nde a reason why T@mﬁs—suggesilen could not be used.

{1]

25
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37. Below shows fwo objects, a metal triangular prism and a wooden
rectangular frame.

AN

metal prism wooden: frame

In the set-up below, Jane positioned a torch, the metal tiangular prism
and the woodén rectangular frame in front of a screen.

tbrch

) : BEE—— G
/.( \ Sereen
metal prism  wooden frame

{a) Inthe box below, draw the shadow formed onr-the screen when [1]
light from the torch was: shone. at~ihe 2 z@lgiegts




Jane decided to change the positions of the metal triangular prism with
the wooden framé as shown below.

torch

< | K screen

wooden frame etalprism

(b) Explain the changes in the shadow formed by these objects on the
screen.

1]

The diagrams below show the sun:diat:at.2pm and 4 pm.

stick -

2pm  shadow"  gpm

(c) Draw the position of the shadow formed on the sun dial whén it is
3 pm.

() State two propenties oHlight thatzilows shidows to be Yormed.

(1]

27
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38. The set-up below shows a syringe that was filled with plasticine at its tip.
When the plunger of the syringe was pushed, it was able to- move forward for
a short distance.

pushed forward
oo plunger
plasticine syrings
Belore pushing
plunger

{a) What can you conclude about the breperty of air from the investigation? 1]

(b} Eﬁ;p‘lai’n why the plunger could not-be pushed to the tip of the syringe in the 2]
above set-up. '

{c) State a change that-could be made to the abové set-up in order to allow the {11

plunger to be pushed Hirther towards the tip of the syringe.

- 28




38.

Linette carried out an experiment to find out how much light passed through
3 materials, X, Y and Z. She conducted the experiment using a light sensor

attached to a datalogger.

Shé obtamed the results as shown in the table below.

Linette wanted to make some curtains for her windows to decorate her room.
She alsco'wants to be able to de her homework during the day without having
to switch on her room lights.

Which materiaf, X
Explain your andWetBased o

e 1% Reading 27 Reading 3% Redding
Material {lux) (lux) (lux)
X 9 0 6
Y 245 261 256
Z 4900 4950 4980
Nene 5000 50800 50060

seto make her curtains?
:hat she had collected.

{21

29
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40. The diagram below shows the shadows cast by 2 blocks, A and B.

Sun

block A block B

v;_(*’

Block A was .o'bserved to cast a darker shadow than 8.

(a)  Based on the results, sugges{ 2 material$ each that blocks A and B could.

be made of. 2]
Block A:
Block B:
{b)  With reference to the material used to make blocks A and B, explain why
" block A cast a darker shadow than block B. [1]

30




41. The diagram below shows anempty flask with a T-shape tube attached
to a rubber stopper. There are two drops of ink in the tube.
X represents the distance between the two drops of ink.

X T-shape tube
o/
AR
ink drop

ink drop

rubber stopper empty flask

cold ‘trough

water at ' SR :.‘_:._'__' 2 Eparet |
10°C

(a)(i) State the change in-X after the empty flask was immersed into. the
trough of cold water for 5 minutes.

{1

(1]

(i) Explain your answer for the change in X in part {j).

€1

31
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A hole was then made in the T-shaped tube at point Q.

T-shape tube

F 3
=]

ink drop ink drop

rubber stopper empty flask
hot water h
at 90°C e trougr

(b)  Explain why the irk drops no longer meve when the emply flask was
immersed in a trough of hot water. 2]

32




42. Mrs Rajwanted to conduct an experiment to show her class how the
temperature of water affects the meiting rate of an ice cube.
She used four glass beakets, A, B, C and D containing water at
different temperaturés as shown below. :

Beaker A Beaker B Béake: G Beaker D

ice cube water
40°C 80 °C 4G °C

(a) Her pupil suggested usingbeakers B and C to cenduct the-experiment
. but Mrs Raj said this would not'be a fair test: Explain why she-saidso.  [1]

(b) Which two beakers should Mrs Raj use for the expériment to ensure
a fair test? Give a reason for your answer. 2]

The pupils observed that when all the ice cubes had melted, the
temperature of water in all the four beakers decreased.

{c) Provide areason to explain their shservations. {1}

67




43. Gavin was given a thermometer and a cup of hot coffee.

(a) What observation would Gavin make if he immersed the thermometer
into the cup of hot coffee? : [

{b) Give a reason for his observation in part (a). 21

34




44. Alan conducted an experiment with the apparatus shown below.
He placed a glass bottle with a deflated balloon into a basin of hot
water. The balloon then became inflated.

balloon

basin —— (
F——-1 |- oy | hot
. <= ——r water
(a} Explain why the balloon was infiated. _ [2]

(b)(i) What can be done to the glass bottle above in order to deflate the
balloon? i1

(b)(ii} State a reason for your answer in {b). : 1

35
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Answer

EXAMPAPER 2012

SCHOOL : NANYANG -
SUBJECT : PRIMARY 4 SCIENCE

TERM : SA2

le Qi1]1Qi21Q13 Q14| Q151016 | Q17
2 3 1 1

QL] Q2 | Q3 | Q4[0Q5] Q6] Q7 ] Q8
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“ig

Q18|Q19:020|Q21}10Q22|Q23 | 0241 0Q25]Q26| Q27 [ Q28 | Q29 | O30
I 3 2

2 3 1 4 1 4 3 3 4 2
31)a)ller b)food

32)a)mouth b)small intestine
'33)a)pull b)maghetic

34)a)give off b)reflects

35)a}thermometer b)24C

36)a)As when it is an egg, the egg cannot move so it is the easiest to get rid of.
b)The sugar will be poisoned by the insecticide)es.

AN

37)a)

b)The size of the shadow cast by the wooden rectangular frame would be
bigger. The size of the shadow cast by the metal triangular prism would be

smaller.
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Answer Key


37)c)

d)Light travels in a straight light.

38)a)Air can be compressed.
b)Air occupies space and it cannot be pushed any further.
c)Place the syringe into a basin of ice.

39)Z. It allows the most light to pass through among the three maferial.

40)a)A: Wood B: Frosted glass
b)A does not allow any light to pass through while B allows some light to
pass through and A allows less light to pass through than B.

41)a)i)X will become shorter.
ii)The air in the flask was cooled and contracted. 7
b)The air in the flask gained heat, expanded and escaped through the hole,

42)a)Beaker B has more water than beaker C and beaker C has one more ice

cube.
b)A and D. They both have the same amount of water and the same number

of ice cubes, only the temperature can be different.
c)The ice cube gained heat from the water and the water lost heat to the

ice.

43)a)Liquid X would rise up.
b)The liquid X gains heat and expand, occupying more space in the
thermometer,

44)a)The air inside the bottle gets heated and occupying more space in the

balloomn.
b}Put the glass bottle into a basin of cold water.
€)The air inside the glass bottle contracts and the balloon will be deflated.
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